TELEX.

TELEX COMMUNICATIONS, INC.

12000 Portland Ave. South, Burnsville, MN 55337, U.S.A.

0
RM-D CAT. NO. 71081-002

19" Double Rack Mount PN 802351-2

INSTRUCTION SHEET

Rack Ear

REMOVE SCREWS
(TYPICAL 4 SIDES)

1
2 Mid Brackel coooeecoeeconsnreseessmessnssnnesenssens 2 3 40RS
3 Screw, #10-32 x 3/8" Phillips pan head ............. 4 (TYPICAL 4 SIDES)
4 Screw, #6-32 x 3/8" Phillips pan head ............. 4
5 Screw #4-40 x 1/4" Phillips pan head................ 4
6 Screw #6-32 x 3/16" Phillips flat head .............. 4
Figure 1
Assembly of Rack Mount

General Description

The RM-D is a double rack mount designed for
Telex wireless products to fit in a standard 19 inch
rack enclosure.

Assembly
To assemble the double rack mount to the units
and install it into a 19" rack, proceed as follows:

e Remove the front Phillips head screws from
each side of each unit. Refer to Figure 1.

e Align the rack ear (Item No. 1) with the holes
on the side of the first unit. Install the previ-
ously removed screws. Insert an additional
screw (Items No. 4 or 5 provided in the parts
pack) into the remaining hole. Repeat this step
for the opposite side of the second unit. Tighten
all screws securely.

e Align the mid brackets (Item No. 2) with the
holes on the adjacent sides of each unit.



e Install the previously removed screws. Insert
an additional screw (Items No. 4 or 5 provided
in the parts pack) into the remaining holes.
Tighten all screws securely.

o Place the two assemblies side by side with the
mid brackets together. (The left bracket should
fit above the right so that the countersinks are
visible.) Install 4 flat head screws (Item No. 6)
Tighten all screws securely.

Place the assembly into the 19 inch rack enclosure
and insert four #10-32 x 3/8" Phillips pan head
screws (supplied) in each corner of the rack ears
and secure to your enclosure.

Copyright© 2000 by Telex
Telex Communications, Inc.
All rights Reserved.

Printed in U.S.A.

AUG 2000

Front Connector Mounting Kit.
Part No. 878978

This kit consists of 4 cable and connector assem-
blies with “TNC” type connectors. They attach to
the RM-D by removing the filler plugs and install-
ing a single nut.

The connectors are compatible with Telex UHF
products (FMR-450, USR-100, etc.) only.



